A o, tan A ] gk FFotolet. (F,0° <A <90°)
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3. tanA=1%2 1, (2+sinA)(2-cosA) 2 #2? (F, 0°<A<90°)
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Aloltt, /CEG = x ¥
A= FotH?
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o, sin x + cos x
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@ sinA

2
)

@ sin A - cos A

@ tanA =2

® tanA



Ch FolT BE W x4y o] S Fou?

2Zte sin cos tan
14° 0.2419 0.9703 0,2493
15° 0.2588 0.9859 0,2679
16° 0.2766 0,9613 0,2867
sinx = 0.2766 , tany = 0.2493
® 28° @ 29° ® 30° @ 31° ® 32°




7.

ohe 19 9] AABC oA AFZt

O 6.82

T sin @ cos T tan =
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
@ 6947 © 7071 @ 7.193

® 7.314
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8. cosAzg A uff, 20sin A x tan A 2] ZH22(H, 0° < A < 90°)

@® 45 @ 6 ®7 @ 8 ® 9



The 1H 9] 259 Zol7t2 91 ¥ 0 9 D
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WAHSH= AABC oA BC=3 ¢ o], sinA A
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10.

the a9} o] Mg Aol7t 1
Q1 € 91 A ColA A8 AB] 2

@ CD =sin40°

@ BD =1-cos40°

sin 20°

sin40°

@ ACAD = %sin40°x (14 cos40°)

® AC=

® ACAO = %sin40°
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11. o5 F Aol &2 A

Mo
tlo

L& 129H? (A 27h)

@ sin230°+cos245°:g

@ sin0°xcos30° 4 cos60° X tan45° =1
1

©) cosO°Xsin90°—tan45°><(30560°:5

@ sin60°xsin0°+ cos30°xcos0° =1

. 1
® sin90°x cos60° —cos90° X tan 60° = 3



12. oS (1), (2) 5 49 7S AFT A F 28 A7
(1) sin®60° x sin? 30 °
(2) cos45° + tan 60 ° x sin 45 °
oy % e ¥l
o 2B W g )3V ) 2oV
5v3 V2 - V6
® 1222, 2



13. g T2 o]§5tol tan15° ) S A2

A
;
5° 30° )
B D C
D 2-12 @ 2+ V2 ® 2+ V3

@ 2-+3 ® 2+23



14.

A 2x—y+3 =09 IHZe} x Fo] o]F = 4
& o, tana 9] G427

@ V3 @ 3 3 V2 @ 2



o] dxBolt}. sinx & cosx =

F_\B
T
:
A z E
® BC. AC @ AC. BC @ig,AC
@ ac, 3¢ ® AE. AC

AC



@ AD ®BC ©CD

@0A ®©®OB ©®OC @& 0D

© AB

@ sinx = AB cosx = OD tanx = OA
@ sinx = AB cosx = OA tanx = AB
® sinx = CD cosx = OD tanx = AB
@ sinx = CD cosx = OA tanx = OB

® sinx = BC cosx = OC tanx = AB




17.

TR B 7|0 ke g WA A2l Lhebd Zlolch. Abzpn
2 k2 el 2 B4 BE B2w?

Zte sin cos tan

10° 0.1736 0.9848 0.1763
20° 0.3420 0,9397 0,3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000

50° 0.7660 | 0.6428 1,1918
70° 0,9397 | 0,3420 2,7475
89° 0,9998 | 0,0175 | 57,2900

el

(D sin20° = 0.9848 © cos45° =0.7071
® tanb0° = 0.6428 ® 2sin10° = 0.3420
@ %00570"20.8192 ® 3tan45°=3

60,60 20206 006 ®660 066



o2 5 %2 A2
- V3
@ sin30° —sin60° = %
@ cos30° x tan 30° + sin 60° X tan 30° =
cos 60°
= V3
sin 30° V3

@ cos45° + sin45° = V2

® tan60° X tan45° = V6



19. o= J™3} 2ol ¥AFo] 2ol 1 o], FHZe] 2717} 35° ]
FAHE ABC 7} 9tk A C |4 AB o & =40 & D =t & o,
= % BD 9] do]=?

® 1-tan35° @ 1+ sin35° ® 1-cos35°

@ 1-sin35° ® 1+ cos35°



0] sin 90° + cos 0°

5

=09

2x2 - 1lx+a

@ 13 ® 12 @ 11 ® 10

® 14



21. t}

Ulo

& =4

(¢}

o
L’B‘—:;-\]

o

@ sind5° = cos45°
® tan35° < tand0°

© sin56° < cos56°

RE 29

@ c0s48° > cos 38°

@ sin37° < cos37°



22.

A A 2

(V3+1)x+ V3=02 F & tana, tanb 2L Z

b 9] A71E? (&, tana < tanb , a,b = |2}

O o°

@ 30° ® 45° @ 60° ® 80°

Ol



23. o2 199 A7 ABC oA cos x 4 cosy 2] 22

@1 ©)
@ V3 ® 43



24.

o2 23 Zo] ¢ O of H3sH= AABC
7 @ 9] A B oA A BT & 1
= ) A7]= /ABT € x 2 Sl cosx =
g,ﬁz(acm%_‘ Y0 9 7B
SHH?

@ 8cm @ 85cm @ 9cm

@ 9.5cm ® 10cm




/BAC =30° € wj, BD 2| Z°o]=?

@ 3cm

@ 3.5cm

@ 4.5cm ® 5cm

@ 4cm



